BEENXFHEE

(B) &% 3% 4A 18 (B) &7 45 3A31H

(B : M)
BhERB FEMNW RE(B) =82 (N-B) &%

NERESBERA 1,362, 636, 000| 1, 341,628, 627| 21,007, 373
EIN L IEET PN 70,800,000 68,128,323 2,671,677
ERBEIA 254,100,000 210,513,024| 43,586, 976
Iy |UREEE A 2,000, 000 867, 600 1,132, 400
A lBEASFEBBSIA 1, 300, 000 1,070, 100 229, 900
i BEREFMEIRA 1,210,000 1,100, 000 110, 000
E ZHABERLSIA 58, 000 10, 906 47,094
) BETFHRAG ) 1,696, 786, 000| 1, 626, 274, 478| 70,511,522
£ AEEZH 1,003,842, 000| 976,721,540| 27,120, 460
E BEEXIH 271,315,000 248,675 139 22, 639, 861
% EHBEXH 277,948,000 256,937,573| 21,010, 427
E MAEABEEHE 7, 260, 000 6,213, 260 1,046, 740
XIFIS X 4,214,000 4,173, 893 40,107
FDHhDXH 2,970, 000 1,835, 249 1,134, 751
BEIEIHE Q) 1,567,549, 000| 1, 494, 556, 654| 72,992, 346
BETHESWMZEEQ)=(1)-2) 129,237,000| 131,717,824| A 2,480,824
i | 2 ZDMOMEEEREICL HINA 102,500, 000| 102, 445, 944 54, 056
| A MR FIRAET (4) 102,500, 000| 102, 445, 944 54, 056
1%‘ LHHEEBASTEEETH 62,520,000 62,508, 000 12,000
= BEE&EEREBXH 41,517,000 36,912, 400 4, 604, 600
[; i T74A4F VR - ) —REHORFZH 3,984,000 3,947,472 36, 528
F3 ZTOMDIEHREHFEEICKL DI 2,000, 000 2,033,970 A 33,970
‘% MR B E T HET (5) 110,021,000| 105, 401, 842 4,619,158
MEREHEEEEINZELE (6)=(4)-(5) A 7,521,000[ A 2,955 898 A 4,565,102
I EEIRAIRA 700,000{  23,412,568| A 22,712, 568
WARSERHAE AL EIVRA 30,000,000 18,000,000 12,000, 000
Iy |BERSEBRALIA 20,000, 000 18, 867, 603 1,132, 397
A AR SREASIA 13,000, 000( 13, 000, 000 0
;C) Y—EXRFERALIRA 50,000, 000| 50, 000, 000 0
th Z DI D;EEUR A (7) 113,700,000| 123,280,171| A 9,580, 171
g RERMmAESHIRGZH 4,000, 000 3,073,192 926, 808
3] BaEEXH 6, 100, 000 5,130, 181 969, 819
'c; BARSERHEASRER S 30,000,000/ 18,000,000/ 12,000, 000
3| % |BERSEBRASIE 20,000, 000 18,867, 603 1,132, 397
g H s R S REA S X H 13,000,000( 13, 000, 000 0
Y—ERRSEBAEIZH 50,000, 000 50, 000, 000 0
ZOMOFEEICL B 700, 000 349, 776 350, 224
ZDHhD;EE R EE (8) 123,800, 000| 108,420, 752| 15,379, 248
ZOMOEBEEINZEEE (9)=(7)-(8) A 10,100,000( 14,859, 419| A 24,959, 419
FiEEXH (10) of ——-—- 0
LHERINZEEAT(11)=Q)+(6)+(9)-(10) 111,616,000| 143, 621, 345| A 32,005, 345
AKX ELES (12) 939,511,000 736,823,943 202, 687, 057
LHRZINELHES (11)+(12) 1,051, 127,000 880, 445, 288| 170, 681, 712




